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[Text]

The Chairman: At page 4 in the summary
of your brief you suggest a dividend tax
credit of 25 per cent or 20 per cent. Have you
made any study of the additional cost this
will incur to the federal treasury?

Mr. Laing: We have not been able to come
up with an estimate we think is acceptable of
what that would cost the treasury as com-
pared to the cost of the integration proposal.

The Chairman: Mr. Whicher.

Mr. Whicher: I will just be a minute, Mr.
Chairman, I only have a minute I see. I would
like to go back to that first slide of Mr.
Macintyre’s.

The Chairman: Before I yield to you, Mr.
Whicher, gentlemen is it your intention to ask
the witnesses to come back this afternoon?

Mr. Kaplan: I have no further questions.

The Chairman: Do you wish the witnesses
to come back this afternoon, Mr. Gillespie?
Maybe we can stay 10 or 15 minutes more
and then be finished with the witnesses.

Mr. Gillespie: It depends how much is cov-
ered between now and then, Mr. Chairman. I
have a couple more questions I would like to
ask.

The Chairman: Yes, but I am seeking your
guidance gentlemen.

Mr. Gillespie: Let us carry on with the
hope then that perhaps we will not have to
invite them back this afternoon.

The Chairman: Mr. Whicher.

Mr. Whicher: Mr. Chairman, I will not be
too long. I agree with many of the proposals
in the brief.

I would like to go back to slide number one
that Mr. Macintyre had, because as you are, I
am very interested in the fact that Canadian
ownership should be encouraged and I would
like to see the Canadian taxpayer, as all of
you would, too, get a square deal and get as
much back in dividend credits as possible.
Mr. Macintyre, you took that gross tax, say,
50 per cent to illustrate your point, but let us

take gross tax, say, of 30 per cent.

Mr. Macintyre: The bottom portion, Mr.
Whicher, if I may interrupt, the letters in
green at the bottom are the net result at a 35
per cent marginal tax rate.

Mr. Whicher: Does that show then 85 per
cent or $85?
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[Interpretation] )

Le président: A la page 4 du résumé de
votre mémoire, vous suggérez un crédit d’im-
pot sur les dividendes de 20 ou 25 p. 100.
A-t-on fait une étude pour savoir ce qu’il en
colitera au Trésor fédéral?

M. Laing: Nous n’avons pas pu faire une
évaluation valide pour le Trésor de ce que
cela couterait au Trésor, comparée au coflit de
la proposition d’intégration.

Le président: Monsieur Whicher.

M. Whicher: Cela me prendra quelques
minutes, monsieur le président. Je voudrais
revenir a la premiére diapositive de M.
Macintyre. :

Le président: Avant que je vous céde la
parole, M. Whicher, messieurs, avez-vous l’in-
tention de demander aux témoins de revenir
cet aprés-midi?

M. Kaplan: Je n’ai pas de questions & poser.

Le président: Voulez-vous que les témoins
reviennent cet aprés-midi, M. Gillespie? Nous
pourrions peut-étre rester 10 ou 15 minutes de
plus, au lieu de leur demander de revenir.

M. Gillespie: Je ne pense pas que nous
puissions tout faire en 10 ou 15 minutes. J’ai
quelques autres questions a poser.

Le président: Je vous demande conseil,
messieurs.

M. Gillespie: Peut-étre que nous pouvons
continuer en espérant qu’ils n’auront pas a
revenir cet apres-midi.

Le président: Monsieur Whicher.

M. Whicher: Monsieur le président, ce ne
sera pas trés long. J’accepte bien des proposi-
tions qui nous sont présentées dans le mé-
moire.

Je voudrais revenir a la diapositive n° 1
présentée par M. Macintyre car comme vous,
messieurs, je m’intéresse beaucoup & encoura-
ger la propriété canadienne, et j’aimerais
aussi voir que les contribuables canadiens
soient traités justement et obtiennent autant
de crédits sur les dividendes que possible. M.
Macintyre, vous avez pris un impét brut, de
50 p. 100, pour illustrer votre exemple mais
prenons une taxe brute de 30 p. 100.

M. Macintyre: Dans ce qui est écrit, en
vert, en bas, le résultat net est & un niveau de
taxe marginale de 35 p. 100.

M. Whicher: Que c’est 85 p. 100 ou $85?



